N = 0l &8 AFY Y9 AN A
20128 20a EEZLEMNEELESH &AM
A NS ZHOHAHE
By MEY FHNA FY
Sl BN FOUXH(RERLENASHE) (el &2
SA BB .S (BH) - MBEAY - B2 Of) & 04 gggf; SmE=L
NEENIE R 1,336,719 1,333,298 3,421
bl 1,301,840
= 34,879
S FHISE AU 1,336,719 1,333,298 3,421
J| 1,301,840
o 34,879
2HIA FOUTNJ(HE2LEINLELESH) 1,139,424 1,126,284 13,140
J| 1,139,424
A ABFOITA(I2) 1,110,724 1,097,584 13,140
J| 1,110,724
307 QI2t0| ™ 389,300 385,900 3,400
J| 389,300
02 QI2tA A X 389,300 385,900 3,400
O ZEY2N HEFOXAAY
850,000& * 458%H 389, 300
J| 389, 300
401 AIEHIZL L20HH| 100,000 100,000 0
J| 100,000
01 Al&HI 100,000 100,000 0
O ZEYLN LBFDXAAY
100,000,000 = 14! 100,000
J| 100,000
402 DI2HXHE 0 A 621,424 611,684 9,740
J| 621,424
01 QI X228 X 621,424 611,684 9,740
O BEYLH LUEOIXAAY
621,424,000& * 14 621,424
J| 621,424
SR FOIXRAS FHIF L BAH(II2) 28,700 28,700 0
J| 28,700
101 Q1214 15,128 15,128 0
J| 15,128
4 D12t 22 NHSES 15,128 15,128 0
O FOXEAY AIREX 15,128
- =2 33,980 * 250 8,495
J| 8,495
- FEY 33,980& x 52 1,767
J| 1,767
— ARG 3,0463 * 25A12F = 12& 1,184
J| 1,184
— HE XY 33,980& * 25&1 /14 850
J| 850
— MU= 8,495,000 » 48 /12& 2,832
J| 2,832




SN

Xl
X ZH: K
S Tt fe=)
A
.

A Z MIOHAHI € ot

9 FHx o Hy

T Ofoh

SRl ABTY ZOINV(HERATNLSEEH) (25l &2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 gl,ligig bRz
201 YEr2gy| 5,502 5,592 0
| 5,592
01 At 22|t 5,502 5,592 0
O ZOUAXNVAY LBAIR L ALREZY|
5,502,000% * 14! 5,502
| 5,502
202 04t 5,200 5,200 0
] 5,200
01 2UH0i 8] 5,200 5,200 0
O ZQAXNHAY =& 0l
20,0002 * 4% * 652 5,200
| 5,200
301 e A3 2,780 2,780 0
| 2,780
e TERE! 2,780 2,780 0
O ZOAXNVAY =& X A&y
2,780,0008 * 14! 2,780
| 2,780
DS 448 SENL N(ZSBLHEHLSHS) 197,295 207,014 £9,719
| 162,416
2 34,879
YASX Y DS54 E RNR2I(IZ) 64,422 64, 141 281
| 51,504
2 12,808
403 XHXIEHHI S XHE 0| ® 64,422 64, 141 281
| 51,504
2 12,828
02 212+ S Ol CHBHCH 8 A2t b 64,422 64, 141 281
O BARXY s+H2lE RN
10,737,008 * AES 6744 64,422
| 51,504
= 12,808
TEY AR 22/(012) 110,822 120,822 210,000
| 110,822
101 Q1248 75,313 82,009 76,696
| 75,313
02 JIEtR B4 58,313 37,025 21,288
O 44N FALE 46,414
- =3 1,580,000 * 2% * 128 37,920
o] 37,920
— yo0i3 3,160
Hasg
1,580,00020 * 50/100 * 2% * 23l 3,160
| 3,160




A NS EHMOHAE
Zn: me@ mune 2o
tel: AEY A3 ENE N (ZEZSENLSESAH) (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
— Nel2ead
6,342 = 15AI12F «» 29 « 128 2,284
Il 2,284
— E==E 2,640
bH <= Xt 40,0003 » 2% » 123 960
Il 960
SIS 20,000& * 7 * 12& 1,680
Il 1,680
— XEEH Ex+¢ 410
Z&t(2=2X) 51,1704 » 29 » 45| 410
Il 410
O EJZE ZAuzA 130,000& «2H «12& 3,120
Il 3,120
O FEZE WSEXIH 120,000& x2H 12 2,880
Il 2,880
O FJZZE GE S0t
1,580,000% 60/ 100%2H »23| 3,792
p) 3,792
O BEAYE eI
1,580,000& *1/30%2H «20 2,107
Il 2,107
4 JI2ZtHI22XSE 17,000 30,000 A 13,000
O M4ABXY HERH ALY
50,000& » 12% = 20 12,000
Il 12,000
O a2 XS M0l
50,000& * 10 = 10& 5,000
Il 5,000
201 et A | 19,056 20,360 A 1,304
Il 19,056
01 AtR2tel 9,056 10,360 A 1,304
O et=&H| 7,256
~ NEW ASAPSTY BEE X
100,000& » 1090 & 1,000
Il 1,000
— AR NS SS3HEA s2HXl =
13,000& * 10& * 30M A 3,900
Il 3,900
— NREZHY 2,356,000& » 14 2,356
Il 2,356
O II=Hl 1,800
— asRANNA 22l 2 TI=H|
300,000& = 6¥& = 13l 1,800
Il 1,800
02 32244 10,000 10,000 0
O 32322 <2 HA 930




A NG ZHOHAE
Zn: me@ mune 2o
Sl MEY A4 SEHM MR (HERLEHASLEIH) CERL
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
— a2 NE =X NSIHAl
200,000& = 10H = 23l 400
Il 400
— NARBRANY BT BANLRLD
15,0002 = 10H * 23l 30
| 30
— a2 XE =FXE BEEZ
500,000& * 1CH 500
| 500
O Xtz Bl 9,070
— NSRBI 2ERY S
1,600 * 350 £ = 123 6,720
J| 6,720
— NAFABRANY EEIY S
2,350,000 » 14 2,350
Il 2,350
202 (bl 6,000 6,000 0
| 6,000
01 2L bI 6,000 6,000 0
O a4paX 22| AREZ Y|
20,000& * 2% * 150 6,000
J| 6,000
204 A=A 3,720 3,720 0
Il 3,720
02 =22l 2,520 2,520 0
O BFE N2 ST
105,000& * 2H = 12& 2,520
J| 2,520
03 EZYREHI 1,200 1,200 0
O P SHYLLBBSY
50,000& * 29 = 12& 1,200
| 1,200
401 AIEHIZ 2OHYI 2,000 4,000 A2,000
| 2,000
01 Al &l 2,000 4,000 A2,000
O &43EB3579 GHHAES
1,000,000 * 2002 2,000
| 2,000
403 AtXIEH S X201 S 2,633 2,633 0
| 2,633
02 SI| 2SO0l CHstH & At S I 2,633 2,633 0
O B2y 222 28 MU
2,633,000 » 14 2,633
Il 2,633
405 RHebFE S HI 2,100 2,100 0
| 2,100
01 XML EEHSHI 2,100 2,100 0




A NS EHMOHAE
B mEY =HNS T
EHel: ZEY AR M N (ZEZEMLELSA)
S BB SR(SH) - HRAY - BAS 0fl &t o S
= £9l (8l FAL - BES &S O3l & o
O a+fa2579 el ZH AY
2,100,000 * 14 2,100
Il 2,100
ZSY A A odIEI(013) 22,051 22,051
801 Gl 22,051 22,051
01 oyl gl 22,051 22,051
O 8 o3 =& uldlbl 22,051,000& 22,051




